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GENERAL KNOWLEDGE (lkekU; Kku)
1. Who took over as the chairman of the

Insurance Regulatory and Development

Authority?

chek fu;ked ,oa fodkl izkf/dj.k ds vè;{k dk inHkkj
fdlus fy;k gS\
(a) J. Hari Narayan (ts- gfj ukjk;.k)
(b) R. Raghavan (vkj- jk?kou)
(c) C. S. Rao (lh- ,l- jko)
(d) T. S. Vijayan (Vh- ,l- fot;u)

2. Who is Benjamin Netanyahu?

csatkfeu usru;kgw dkSu gSa\
(a) Prime Minister of Iran (bjku ds iz/kuea=kh)
(b) Prime Minister of Israil (blzk;ky ds iz/kuea=kh)
(c) Prime Minister of Iraq (bjkd ds iz/kuea=kh)
(d) Prime Minister of Indonesia

(baMksusf'k;k ds iz/kuea=kh)

3. Who is the author of Book "Life of Pi"?

^^ykbiQ vkWiQ ikbZ** iqLrd ds ys[kd dkSu gSa\
(a) Yuvraj Singh (;qojkt flag)
(b) Yann Martel (;ku ekVsZy)
(c) Chetan Bhagat (psru Hkxr)
(d) Aravind Adiga (vjfoan vfMxk)

4. Who was honoured with posthumous

lifetime Achievement Grammy Award?

ej.kksijkar ykbiQVkbe vphoesaV xzSeh iqjLdkj ls fdls lEekfur
fd;k x;k gS\
(a) John Elton (tkWu ,YVu)
(b) Bismillah Khan (fcfLeyk [kk¡)
(c) Pandit Ravi Shankar (iafMr jfo'kadj)
(d) Bhimsen Joshi (fHkelsu tks'kh)

5. Who has won the Women's Single Title of

the Australian Open 2013?

vLVªsyh;kbZ vksiu 2013 dk efgyk ,dy f[krkc fdlus thrk gS\
(a) Victoria Azarenka (foDVksfj;k vtkjsadk)
(b) Maria Sharapova (ekfj;k 'kjkiksok)
(c) Serena Williams (lsjsuk fofy;El)
(d) Karollina Wozniyaki (dSjksyhuk oksTuh;kdh)

6. Which one of the following town is not

situated along the Grand Trunk Road?

fuEufyf[kr esa dkSu lk 'kgj xzSaM Vªad jksM ds ikl vofLFkr ugha gS\
(a) Allahabad (bykgkckn)
(b) Lucknow (y[kumQ)
(c) Agra (vkxjk) (d) Kanpur (dkuiqj)

7. In MGNREGA, what do you understand by A?

^eujsxk* esa A }kjk fu#fir gksrk gS&
(a) Authority (vkWfFkfjVh) (b) Award (vokMZ)
(c) Act (,DV) (d) None of these (buesa ls dksbZ ugha)

8. For which account interest is not paid?

fdl cSad [kkrs esa C;kt ugha feyrk gS\
(a) Current Account (pkyw [kkrk)
(b) Saving Account (cpr [kkrk)
(c) Deposit Account (tek [kkrk)
(d) Loan Account (Í.k [kkrk)

9. Full form of KYC is -

ds-okbZ-lh- fdldk laf{kIr #i gS&
(a) Know your Computer (uks ;ksj dEI;wVj)
(b) Knowledge your Computer (ukWyst ;ksj dEI;wVj)
(c) Knowledge your Client (ukWyst ;ksj Dykb±V)
(d) Know you Customer (uks ;ksj dLVej)

10. The people of the indus valley civilization

usually built their house -

fla/q ?kkVh lH;rk esa yksxks ds }kjk ?kjks dk fuekZ.k fd;k tkrk gS&
(a) Pucca Bricks (iDdk b±V)
(b) Stone (iRFkj) (c) Wood (ydM+h)
(d) All of these (mijksDr lHkh)

11. Where did Lord Buddha breathe his last

(Mahapari Nirvan)?

Hkxoku cq¼ viuh vafre lkal (egkifjfuokZ.k) dgk¡ yh Fkh\
(a) Rajgir (jktxhj) (b) Bodh Gaya (cks/ x;k)
(c) Sarnath (lkjukFk) (d) Kushi Nagar (dq'kh uxj)

12. Between whom was the battle of Chausa

Fought?

pkSlk dk ;q¼ fduds chp gqbZ Fkh\
(a) Humayun and Man Singh (gwek;q¡ vkSj ekuflag)
(b) Humayun and Sherkhan (gwek;q¡ vkSj 'ksj[kku)
(c) Akbar and Rana Pratap (vdcj vkSj jk.kkizrki)
(d) Jehangir and Rana Amar Singh
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(tgk¡xhj vkSj jk.kk vej flag)
13. In which of the following years was the first

Railway Line between Bombay and Thane

Laid?

fuEufyf[kr esa ls fdl o"kZ ckWEcs vkSj Bk.ks ds chp jsyos
ykbu dk fuekZ.k gqvk\
(a) 1853 (b) 1854

(c) 1856 (d) 1858

14. Name One leader of the Home Rule

Movement-

gkse#y vkanksyu ls lEcfU/r fdlh ,d usrk dk uke crkosa&
(a) Annie Besant (,uh cslsaV)
(b) Surendra Nath Bannerjee (lqjsUæ ukFk cuthZ)
(c) Aurobindo Ghos (vkSjfoUnks ?kks"k)
(d) Bipin Chadra Pal (fofiu paæ iky)

15. Bhagat Singh, Rajguru and Sukhdeo were

hanged on -

Hkxr flag] jktxq# vkSj lq[knso dks iQk¡lh feyh&
(a) March 23, 1932 (23 ekpZ 1932)
(b) March 23, 1934 (23 ekpZ 1934)
(c) March 23, 1931 (23 ekpZ 1931)
(d) March 23, 1933 (23 ekpZ 1933)

16. Who president over the first meeting of the

Indian Constituent Assembly?

Hkkjrh; lafo/ku lHkk ds izFke cSBd ds vè;{k dkSu Fks\
(a) Dr. Rajendra Prasad (MkW- jktsUæ izlkn)
(b) Sachchida Nanda Sinha (lfpnk uan flUgk)
(c) B. R. Ambedkar (ch- vkj- vEcsMdj)
(d) H. V. Kamath (,p- ch- dkeFk)

17. The brand name of 16 digit unique

identification number to be assigned to

each individual in the country will be -

16 vadksa dk ;qfud vkbZMsafVfiQds'ku uEcj tks ns'k ds lHkh
ukxfjdksa dks iznku dh tk,xh dk czSaM uke D;k gS\
(a) Pehchan (igpku) (b) Madhyam (ekè;e)
(c) Aadhar (vk/kj) (d) Aabhar (vkHkkj)

18. The Vice President is the ex-officio

chairman of the -

mijk"Vªifr insu vè;{k gksrs gSa&
(a) Lok Sabha (yksd lHkk)
(b) Rajya Sabha (jkT; lHkk)
(c) Planning Commission (;kstuk vk;ksx)
(d) National Development Council

(jk"Vªh; fodkl ifj"kn~)

19. Among the following rivers which one is

longest?

fuEufyf[kr esa ls dkSu lh unh lcls cM+h gS\

(a) Godavari (xknkojh) (b) Krishna (d`".kk)

(c) Narmada (ueZnk) (d) Yamuna (;equk)

20. Which one the following pairs is not

properly matched?

fuEukafdr esa dkSu lk lgh feyku ugha gS\

Industry (m|ksx) -- Industrialists (m|ksxifr)

(a) Reliance (fjyk;al) -- Mukesh Ambani (eqds'k vackuh)

(b) Wipro (foizks) -- N. R. Narayanmurthy (,u- vkj- ukjk;.keqfrZ)

(c) Airtel (,;jVsy) --Sunil Bharti Mittal (lquhy Hkkjrh feÙky)

(d) Tata (VkVk) --Cyrus Mistry (lk;jl feL=kh)

21. The headquarter of RBI is situated at -

vkj- ch- vkbZ dk eq[;ky; vofLFkr gS&

(a) Delhi (fnYyh) (b) Kolkata (dksydkrk)

(c) Chennai (psUubZ) (d) Mumbai (eqEcbZ)

22. Which river crosses the Equator twice?

dkSu lh unh nks ckj Hkqeè; js[kk dks ikj djrh gS\

(a) Amazon (vestu) (b) Congo (dk¡xks)

(c) Nile (uhy) (d) Orinoco (vksfjuksdks)

23. Capital of Qtar-

drj dh jkt/kuh gS&

(a) Dubai (nqcbZ) (b) Abudhabi (vcq/kch)

(c) Doha (nksgk) (d) Lahore (ykgksj)

24. In which of the following countries did the

industrial revolution first take place?

fuEufyf[kr esa ls dkSu lk ns'k esa loZizFke vkS|ksfxd Økafr gqbZ\

(a) USA (la;qDr jkT; vesfjdk)

(b) UK (;qukbZVsM fdaxMe)

(c) Germany (teZuh) (d) France (izQkal)

25. Facebook is -

iQslcqd gS

(a) Social Networking Site (lks'ky usVofd±x lkbZV)

(b) Micro Blogging Site (ekbØks CykWxhax lkbZV)

(c) E-mail Provider (bZ&esy iznkrk)

(d) Search Engine (lpZ batu)
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GENERAL SCIENCE (lkekU; foKku)
1. Cement does not contain -

flesaV esa D;k ugha gksrk gS\

(a) Iron (ykSg) (b) Aluminium (,sY;qfefu;e)

(c) Calcium (dSYlh;e)(d) Sulphur (xa/d)

2. The formula of hamatite is -

gsekVkbV dk lw=k gS&

(a) Fe
3
O

4
(b) Fe

2
O

3

(c) FeCo
3

(d) FeS
2

3. Stainless Steel contains -

LVsuysl bLikr esa gksrk gS&

(a) Fe + Cr + Ni (b) Fe + Ni + Cu

(c) Fe + Cr + Cu (d) Fe + C + Ni

4. Viruses are made up of -

ok;jl fuEu ls fufeZr gksrk gS&

(a) Protein & Lipids (izksVhu ,oa yhihM)

(b) Nucleic acid & Protein (U;wDyhd vEy ,oa izksVhu)

(c) Lipids & Carbohydrate (yhihM ,oa dkcksZgkbMªsV)

(d) Carbohydrate & Nucleic Acid

(dkcksZgkbMªsV ,oa U;wDyhd ,lhM)

5. Weight of human brain in gram is -

ekuo efLr"d dk Hkkj fdrus xzke gksrk gS\

(a) 1350 (b) 1230

(c) 1100 (d) 1300

6. Which of the following acid is found in the

stomach of man?

ekuo ds isV esa dkSu lk vEy ik;k tkrk gS\

(a) Sulphuric Acid (lYÝ;wfjd vEy)

(b) Nitric Acid (ukbfVªd vEy)

(c) Hydrochloric Acid (gkbMªksDyksfjd vEy)

(d) Picric Acid (fidfjd vEy)

7. Which blood group is universal recipient?

dkSu lk jDr lewg ;wfuolZy jhlhih;aV gS\

(a) A (b) B

(c) AB (d) O

8. Anaemia is due to difficiency of -

,uhfe;k fdldh deh ls gksrk gS\

(a) Ca (b) Fe

(c) Mg (d) P

9. Which gas is responsible for global

warming?

Xykscy okfe±x ds fy, dkSu lk xSl ftEesokj gS\

(a) O
2

(b) O
2
 and Co

2

(c) CO
2
 and CH

4
(d) CH

4

10. What is the elements presents in Urea?

;wfj;k esa dkSu lk rRo mifLFkr gksrk gS\

(a) C, H, O (b) C, N, O

(c) C, N, H (d) C, O, N, H

11. The Doppler's effect is applicable for -

MkWIyj dk izHkko mi;qDr gS&

(a) Light Wave (izdk'k rjax)

(b) Sound Wave (èofu rjax)

(c) Space Wave (varfj{k rjax)

(d) Both (a) & (b) (a vkSj b nksuks)

12. The focal length of a plane mirror is-

lery niZ.k dk ukfHk; yackbZ gksrk gS&

(a) Positive (/ukRed)

(b) Negative (Í.kkRed)

(c) Zero ('kqU;)

(d) Infinity (vuar)
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13. The power of lens is - 2D. What is its focal

length?

ysal dk {kerk & 2 D gS] rks bldk ukHkh; yackbZ D;k gS\

(a) 2 m (2eh-) (b) 1.5 m (1-5 eh-)

(c) 1.0 m (1-0 eh-) (d) 0.5 m (0-5 eh-)

14. Electromagnents are used in -

fo|qr pqacd esa mi;ksx gksrk gS&

(a) Electric Balls only (dsoy fo|qr cYc)

(b) Telephone only (dsoy VsfyiQksu)

(c) Dynamos only (dsoy Mk;useks)

(d) All of the above (mi;qZDr lHkh)

15. Which of the following is used in Oven?

vksou esa fuEufyf[kr esa ls fdldk mi;ksx fd;k tkrk gS\

(a) X-rays (X&fdj.k)

(b) UV-rays (UV&fdj.k)

(c) Microwaves (ekbØksosc)

(d) Radiowaves (jsfM;ksosc)

16. Fahrenheit scale divides two fixed points

into

iQkjsugkbV iSekuk nks fuf'pr fcanq dks ckVrk gS&

(a) 180 Parts (180 Hkkx)

(b) 212 Parts (212 Hkkx)

(c) 100 Parts (100 Hkkx)

(d) 32 Parts (32 Hkkx)

17. Which one has linear structure ?

buesa ls dkSu ,djsf[k; lajpuk gS\
(a) NO

2
(b) CO

2

(c) SO
2

(d) SiO
2

18. Which of the following is radioactive

element?

buesa ls dkSu lk jsfM;ks/ehZ rRo gS\

(a) Sulphur (xa/d)

(b) Polonium (iksyksfu;e)

(c) Tellurium (Vsy;qfj;e)

(d) Selenium (lsfyuh;e)

19. Which one of the following elements is the

poorest conductor of heat?

buesa ls m"ek dk lcls detksj pkyd dkSu lk gS\

(a) Sodium (lksfM;e) (b) Lead (dk¡p)

(c) Zinc (ftad) (d) Mercury (ikjk)

20. Maleic Acid is found in the

esfyd vEy ik;k tkrk gS&

(a) Apple (lso) (b) Vinegar (fljdk)

(c) Milk (nw/) (d) Lemons (fuacw)

21. The compressed gas available in cooking

gas cylinder is mixture of -

[kkus ds xSl flysaMj esa xSl Hkjh tkrh gS og fdldh feJ.k
gksrh gS\
(a) C

6
H

6
 + C

6
H

5
CH

3
(b) C

2
H

4
 + C

2
H

2

(c) C
2
H

4
 + CH

4
(d) C

4
H

10
 + C

3
H

8

22. Wine contains

'kjkc esa gksrk gS &
(a) CH

3
OH (b) C

2
H

5
OH

(c) C
6
H

5
OH (d) Glucose (Xywdkst)

23. Which of the following metals is not a

Pollutant ?

fuEufyf[kr esa dkSu lk /krq iznw"kd ugha gS\

(a) Mercury (ikjk)

(b) Arsenic (vklsZfud)

(c) Lead (lhlk)

(d) Aluminium (vY;wfefu;e)

24. The human body does not produce -

ekuo 'kjhj mRiUu ugha djrk gS&

(a) Vitamins (foVkehu)

(b) Enzymes (bUtk;e)

(c) Proteins (izksVhu)

(d) Hormones (gkeksZUl)

25. Yeast is -

[kehj gS

(a) Bacteria (cSDVsfj;k)

(b) Antibiotic (,UVhckW;Vhd)

(c) Virus (ok;jl)

(d) Fungi (iQaxl)
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MATHEMATICS (xf.kr)
1. If (64)2 - (36)2 = 20 x x, then x = ?

;fn (64)2 - (36)2 = 20 x x rks x = ?

(a) 70 (b)120 (c) 180 (d) 140

2. The sum of first five prime number is -

izFke ik¡p vHkkT; la[;kvksa dk ;ksx gS&
(a) 11 (b)28 (c) 26 (d) 18

3. The L.C.M. of 
12

7
,

6

5
,

9

4
,

3

2
is :

12

7
,

6

5
,

9

4
,

3

2
 dk yú lú gS

(a)
3

140
(b)

18

1
(c)

36

1
(d)

9

35

4. 1 + .1 + .01 + .001 = ?

(a) 1.001 (b)1.011 (c) 1.003 (d) 1.111

5. If 

?xthen,2

4

1
3

1
1

1
x ==

+

+

+

;fn 

2

4

1
3

1
1

1
x =

+

+

+

rks ?x =

(a)

17

5
2

(b)
17

4
1 (c)

17

1
4 (d)

4

1
17

6.
4

1
 of Dinesh's money is equal to 

6

1
 of

Neeraj's money, If both of them together

have Rs. 600, What is the difference

between their amounts?

;fn fnus'k ds dqy #i;ksa dk 4
1 vkSj uhjt ds dqy #i;k

dk 6
1 Hkkx cjkcj gksA ;fn nksuksa ds ikl dqy #i;k 600

gks rks nkuksa ds chp fdrus #i;ksa dk varj gS\
(a) 150 (b) 120

(c) 130 (d) 140

7. If a - b = 1, the (a3 - b3 - 3ab) = ?

;fn a - b = 1 rc (a3 - b3 - 3ab) = ?

(a) -3 (b)-1 (c) 1 (d) 3

8. ?000064.03
=

(a) 0.02 (b)  0.2

(c) 2 (d)  None of these (buesa ls dksbZ ugha)

9. The average of three numbers is 28. The

first number is half of the second and the

third number is twice the second. Find third

number -

rhu la[;kvksa dk vkSlr 28 gSA igyh la[;k] nwljh la[;k
dh vk/h gS] vkSj frljh la[;k nwljh dh nqxquh gSA frljh
la[;k fudkysaA
(a) 18 (b)24 (c) 36 (d) 48

10. The sum of three numbers is 68. If the ratio

between first and second be 2 :3 and that

between second and third be 5 : 3, then

the second number is :

rhu la[;kvksa dk ;ksx 68 gSA ;fn igyh vkSj nwljh la[;kvksa
ds chp dk vuqikr 2 % 3 vkSj blh rjg nwljh vkSj frljh
la[;k ds chp dk vuqikr 5 % 3 gS rks frljh la[;k gSA
(a) 30 (b)20 (c) 58 (d) 48

11. A mixture of 40 liters of milk and water

contains 10% water. How much water

should be added to this mixture so that the

new mixture contains 20% water?

,d 40 yh- nw/ vkSj ikuh ds feJ.k esa 10» ikuh gSA bl
feJ.k esa fdruk ikuh vkSj feyk;k tk, fd u;k feJ.k
20» ikuh j[krk gksA
(a) 4 Liters (4 yhVj) (b) 5 Liters (5 yhVj)
(c) 6.5 Liters (6-5 yhVj) (d) 7.5 Liters (7-5 yhVj)

12. A man sales tea at20% profit and uses a

weight which is 20% less than the actual

measure. His gain percent is

,d vkneh 10» ds ykHk ij pk; csprk gS vkSj otu esa
20» dh dVkSrh djrk gSA rks mldk ykHk fudkysa
(a) 30% (b) 35%

(c)
2

1
37 % (d) None of these (buesa ls dksbZ ugha)
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13. If 5:3:2
z

1
:

y

1
:

x

1
= , then x : y : z = ?

;fn 5:3:2
z

1
:

y

1
:

x

1
=  rks x : y : z = ?

(a) 2 : 3 : 5 (b) 15 : 10 : 6

(c) 5 : 3 : 2 (d) 6 : 10 : 15

14. 10 pipes of the same diameter can fill a tank

in 24 minutes the remaining pipes take to

fill the tank?

leku C;kl okys 10 ikbZi fdlh VSad dks 24 feuV esa Hkjrs
gSaA ;fn nks ikbi fudky fn;k tk, rks cps gq, ikbi ml VSad
dks Hkjus esa fdruk le; ysaxs\
(a) 40 Minute (40 feuV) (b) 45 Minute (45 feuV)
(c) 30 Minute (30 feuV)

(d)
5

1
19  Minute (

5

1
19  feuV)

15. A and B start simultaneously from a certain

point in North and South directions on

motorcycles. The speed of A is 80 km/hr

and that of B is 65 km/hr. What is the

distance between A and B after 12 minutes?

A vkSj B fdlh fuf'pr fcanq ls ,d lkFk mÙkj vkSj nf{k.k
fn'kk esa eksVjlkbfdy ls tkrs gSA A dh pky 80 km/hr

gS vkSj B dh pky 65 km/hr. gSA 12 ehuV ckn A vkSj
B ds chp dh nwjh D;k gksxh\
(a) 14.5 Km (14-5 fd-eh-) (b) 29 Km (29 fd-eh-)
(c) 36.2 Km (36-2 fd-eh-) (d) 39 Km (39 fd-eh-)

16. If  the compound interest on a certain sum

for 2 years at 12.5% per annum is Rs. 170,

the simple interest is -

;fn fdlh ewy/u dk 2 o"kks± ds fy, 12-5» okf"kZd dh nj
ls pØo`f¼ C;kt 170 gS] lk/kj.k C;kt fudkysa&
(a) Rs. 150 (150 #i,) (b) Rs. 152.5 (152-5 #i,)
(c) Rs. 160 (160 #i,) (d) Rs. 162.5 (162-5 #i,)

17. The length of a rectangular plot is twice its

breadth, If the length of its diagonal is

59 m, the perimeter of the rectangle is -

,d vk;rkdkj IykWV dh yEckbZ] pkSM+kbZ dh nqxquh gSA ;fn
blds fod.kZ dh yEckbZ 59 eh- gS rks vk;rkdkj IykWV
dh ifjfefr fudkysa
(a) 27 m (27 eh-) (b) 54 m (54 eh-)
(c) 81 m (81 eh-) (d) None of these (buesa ls dksbZ ugha)

18. Which is better stock, 5% at 143 or 
2

1
3 %

at 93?

fuEu esa ls dkSu csgrj ̂ ^LVkWd** gS\ 5» ij 143 ;k 
2

1
3 %

ij 93\

(a) 5% at 143 (b)
2

1
3 % at 93

(c) Both are equally good (nksuksa vPNs gSa)
(d) None of these (buesa ls dksbZ ugha)

19. It was Sunday on Jan 1, 2006, Find the

day of the week on Jan1, 2010.

;fn 1 tuojh 2006 dks jfookj Fkk] rks 1 tuojh 2010 dks
dkSu lk fnu gksxk\

(a) Sunday (jfookj) (b) Monday (lkseokj)

(c) Friday ('kqØokj) (d) Wednesday (cq/okj)

20. How many times are the hands of a clock

right angle in a day?

,d fnu esa fdruh ckj ?kM+h dh lwbZ;k¡ vkil esa ledks.k
cukrh gS\
(a) 44 (b)22 (c) 24 (d) 48

21. If 3x + 7y = 75 and 5x - 5y = 25, then what

is the value of x + y?

;fn 3x + 7y = 75 vkSj 5x - 5y = 25, gS rks x + y

dk eku D;k gksxk\
(a) 14 (b)15 (c) 16 (d) 17

22. How many numbers between 200 and 600

are divisible by 4, 5, 6 ?

200 vkSj 600 ds chp ,slh fdruh la[;k,sa gS tks 4] 5] 6
ls foHkkftr gS\
(a) 5 (b)6 (c) 7 (d) 8

23. In the given figure,

what is the value of

x, if 4x = 5 y

fn;s x;s fp=k esa x dk

eku fudkys ;fn 4x = 5 y gS
(a) 100° (b)105° (c) 110° (d) 115°

24. (2 Sin230° - 3 Cos245° + tan260°) = ?

(a) 1 (b)2 (c) 4 (d) 5

25. 6, 12, 21, ?, 48

(a) 33 (b)38 (c) 40 (d) 45

x°
y°
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ENGLISH (vaxzsth)

1. Write an essay on any of the following in 200

words (4 Marks)

(a) Corruption in Politics

(b) Social Responsibilities

2. Write an application along with biodata to your

principal to appoint you as assistant teacher in

your school, where you have just completed you

final examinaition (in 175 words) (4 Marks)

3. Pick out the nouns and state their kinds in the

each following sentence (2 Marks)

(a) Akbar was a wise king.

(b) Solomon was famous for his wisdom.

(c) The jury were divided in their opinions.

(d) The pen on the table belongs to Ravi.

4. Find out the error part of the following any four

sentence : (2 Marks)

(a) (i) Mr. Mishra / (ii) with his wife

(iii)  and children / (iv) were present at

the station / (v) No error

(b) (i) I am sure that / (ii) neither the

house/ (III)nor its contents / (iv) are for

sale / (v) No error

(c) (i) Twice / (ii) Twelve / (iii) are / (iv)

twenty four / (v) No error

(d) (i) A group of friends / (ii) Want to visit

/ (iii) the new plant / (iv) as early as

possible / (v) No error

(e) (i) Several visitors / (ii) are expected /

(iii) to visit / (iv) the place tomorrow /

(v) No error

(f) (i)Many of / (ii) the questions / (iii) asked

in this question paper / (iv) was easy /

(v) No error.

5. Write down one word from the given groups of

word (Answer any four question) (2 Marks)

(a) Singnal under martial law for people to

remain indoors

(b) A person who is specialist in bone disease.

(c) A vehicle which is used to carry a dead body.

(d) Art or craft needing skill with hand.

(e) A deplomatic representative in another country.

(f) A child born after the death of his father.

6. Choose the option that discribes the meaning

of each of the following idioms and phrases.

(2 Marks)

(a) Adhoc

(i) for the special purpose

(ii) arranged systematically

(iii) arranged in order

(iv) None of these

(b) To fall flat

(i) to retreat

(ii) to meet accidentally

(iii) to be met with a cold reception

(iv) to quarrel

(c) Right hand man

(i) most efficient assistant

(ii) a foolish person

(iii) an honest person

(iv) One who cannot use his hand

(d) Judas Kiss

(i) Pure Love

(ii) False Love

(iii) Aggressive Love

(iv) None of These

7. Fill in the blanks with the following prepositions

: (2 Marks)

(a) He's a very matured young person who has

seen life......any young age.

(b) The wife told her husband that she was

leaving him ....good

(c) I wonder where she came......

(d) She's too smart ....you to play dirty tricks on her.

8. From the choice given, choose the word which

best expresses the meaning of each

capitalised word. (2 Marks)

(a) PROLIFIC

(i) Skilful (ii) Swift

(iii) fertile (iv) wearisome

(b) DILIGENT

(I) honest (ii) Industrious

(iii) clever (iv) damaging

(c) DESCEND

(i) go up (ii) come down

(iii) passon (iv) look into

(d) MILITANT

(i) dramatic (ii) religious

(iii) combative (iv) quaint

9. Make suitable sentence of the following same

pronounced words (2 Marks)

(a) Accept Except

(b) Angle Angel

(c) Foul Fowl

(d) Hair Heir

10. Translate into English (3 Marks)

(a) dy bl le; eSa fiQYe ns[krk jgw¡xkA
(b) mls gj dher ij bl dk;Z dks djuk gSA
(c) og enj bafM;k fiQYe ns[kk gksxkA
(d) iz/ku vfHkusrk n'kZdks ds lkeus izdV gks jgs gSaA
(e) og vxys lkseokj dks U;w;kdZ ds fy, izLFkku djsxhA
(f) jksxh ejus&ejus dks gSA
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HINDI (fgUnh)
1. fuEufyf[kr esa ls fdlh ,d ij 200 'kCnksa esa fuca/ fy[ksa

(4 vad)

(a) flusek dk lekftd thou esa izkæqHkkZo

(b) uSfrd iru ds eq[; dkj.k

2. uxj fuxe }kjk vius {ks=k dks xanxh dh vksj dksbZ è;ku u
fn;s tkus ij fdlh nSfud i=k ds lEiknd dks i=k fy[ksa
(yxHkx 150 'kCnksa essa) (4 vad)

3. fuEu 'kCn lewgksa ds fy, ,d 'kCn fy[ksaA (2 vad)

d- ljdkj }kjk nwljs ns'k dh rqyuk esa vius ns'k dh eqæk
dk ewY; de dj nsukA

[k- ftl ij vfHk;ksx yxk;k x;k gksA

x- tks foyEc ;k Vky&eVksy ls dke djsA

?k- ihus dh bPNk

4. fuEufyf[kr 'kCnksa esa orZuh laca/h =k`Vh dks lgh djsaA

(2 vad)

d- izekf.kd [k- dsUæh;dj.k

x- vks|ksfxd ?k- fu'kqYd

5. fuEufyf[kr [kCnksa dk laf/ foPNsn djsaA (2 vad)

d- ræwi [k- nqyZHk

x- xk;u ?k- izkf.kek=k

6. fuEufyf[kr [kCnksa dk lekl foxzg djsaA (2 vad)
d- iki&iq.; [k- ;Fkk'kfDr
x- uhydey ?k- xxupqEch

7. fuEufyf[kr eqgkojksa dk vFkZ Li"V djsaA (2 vad)
d- e[keyh twrs ekjuk
[k- vaMs dk 'kgtknk
x- yaxksVh esa iQkx [ksyuk
?k- dku dkVuk

8. okD; ds v'kq¼ Hkkx dk p;u dhft,A (2 vad)
d- (i) vkt Hkz"Vkpkj gj {ks=k esa @ (ii) f'k"Vkpkj ds #i

esa @ (iii) tkuk tkrk gSA @ (iv) dksbZ =kqfV ugha
[k- (i) nhikoyh ij dqN yksx@ (ii) pepekrh pk¡nh ds

crZu@ (iii) [kjhnus dk yksHk laoj.k u dj ldsA @
(iv) dksbZ =kqfV ugha

x- (i) iQwy esa lqxa/ @ (ii) gksrh gS vkSj @ (iii) frryh
ds ikl lqanj ia[kA @ (iv) dksbZ =kqfV ugha

?k- (i) vè;kid us  @ (ii) vkt gekjs dks @ (iii) u;k
ikB i<+k;kA @ (iv) dksbZ =kqfV ugha

9. fuEufyf[kr [kCnksa dk fn, x, fodYi esa ls dksbZ ,d
i;kZ;okph 'kCn pqusaA (2 vad)
d- vfe;
(i) fo"k (ii) lq/k
(iii) e/qi (iv)vkez
[k- i`Foh
(i) jRuxHkkZ (ii) fgj.;xHkkZ
(iii) olqerh (iv) Lo.kZe;h
x- [kj
(i) jko.k (ii) dqafnr
(iii) x/k (iv) eq[kZ
?k- nkfeuh
(i) o"kkZ (ii) uhjn
(iii) ckny (iv) fo|qr

10. fuEufyf[kr nksgks esa ls fdlh ,d dk HkkokFkZ 70 'kCnksa esa nsaA
(3 vad)

d- fdldks tx esa vejRo feyk\
fdlus v{k; ;kSou ik;k\
ge T;ksa&T;ksa c<+rs tkrs gSa]
R;ksa&R;ksa ?kVrs gh tkrs gSaA

[k- tks u fe=k nq[k gksfga nq[kkjh
frUgfga foyksdr ikyd ekjh
fut nq%[k fxfj le jt dfjtkuk
fe=k nq%[k jt es# lekukA


